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1. ' Xnb P(nλ)Ý5µ, n ≥ 1�

(i) �J Xn/n P−−−−→
n →∞ λ�

(ii) uλ = 2, �O n¸ÿ P (|Xn/n− λ| ≥ 0.01) < 0.05�

2. '(X1, X2)�Ð)p.d.f.
f(x1, x2) = 3x1, 0 < x2 < x1 < 1��Y1 = 1/X1, Y2 =

1/X2��O

(i) (Y1, Y2)�Ð)p.d.f.;

(ii) E(Y1|Y2 = y2), y2 ≥ 1�

3. 'N1, · · · , N100
i.i.d.N (0, 1)5µ�r.v.’s, (X1, · · · , X100)
i.i.d.,�(N1, · · · , N100)

}ñ, vP (Xi = 1) = P (Xi = −1) = 1/2��OP (
∑100

i=1 XiNi > 5
)
, v|Ê	Ðó

���

4. �X =
∑N

j=1 Uj, Í�U1, U2, · · ·
i.i.d., P (Uj = i) = pi, i = 1, 2, · · · , ∑∞
i=1 pi = 1,

vNbP(λ)5µ�ê� Y =
∑∞

i=1 iZi, Í�Z1, Z2, · · ·
}ñ, vZibP(λpi)5µ,

i ≥ 1��JX�Y�5µ8!�

5. �Ω = [0, 1], F
[0, 1]îXbBorel/)Ý/), v�P ([0, a]) = a, ∀a ∈ Ω�En ≥
1, �Xn(ω) = nω(1− ω2)n, ω ∈ Ω��µ�LJ�Xn

P−−−−→
n →∞ X, ¬��r.v. X�

6. '{Xn, n ≥ 1}
}ñ, P (X1 = 0) = 1, vEn ≥ 2,

P (Xn = n) = P (Xn = −n) =
1

2n log n
,

P (Xn = 0) = 1− 1

n log n�

�Xn =
∑n

i=1 Xi/n, n ≥ 1��J Xn
P−−−−→

n →∞ X, ¬��r.v. X�


